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1. 3MT9% EIRT 39 HAGT A Tl [T 970 HieT-of1geT 3eT o TR W 3meh! faf@ra oliet & faw snafd
forar orar €1 A sy Aw A R e Y arerd wiafse i & a1 faane & eTHR 3t Jegdr
LT T B o AT9ehl A fAar srediehd Y & Suef|

You have been called for the written test based on the online data furnished by you in the web application__If you have
wronaly entered any information in the web or you do not possess the required qualification as per our advertisement,
your candidature will be rejected.

2. méhﬁﬁﬁwﬁmﬁamﬁﬂ.ﬁmwmmmaml

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. W, 80 WA § erel TRA-GIEctehl o w7 A § 3 qlieT Hr 3@ 02 6 F |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. YA % Ieak ool o AT @I IiA Algd HeTer HTHHR IccR-gRdeh &r smesh

A separate OMR answer sheet with duplicate will be provided to mark the answerioptions.

5. UcAT e HAT 04 3% g 3R URF AT Iea¥ FIAT UF 3% FET AT |
Each question carries 04 marks and one mark will be deducted for each wrong answer.
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12

13,

14.

134

FIL GV et & ARG dea-qReaent AT Hig (WeHyEE), MTANR IcaT IReds R Hfive wos o

ISECEIRCIITAN!
Question booklet series code (A/B/CID/E) printed on the right hand top comer should be written in the OMR
answer sheet in the place provided.

FR&-GIEcTRT H 3T ATH GEIEGETICRINE ]

Enter your Name and Roll Number correctly in the question booklet.

Wmm-gﬁawﬁmﬁ%ﬁmmﬁunﬁ%ahmﬁzﬂa@ﬁﬁmaﬁm

All entries in the OMR answer sheet should be with blue/black ball point pen only.

IR faswcdl AfRd aE&dfss gHR & g3 gt o & % U T ®7 @ TEr g |

The questions will be objective type with four options out of which only one will be unambiguously correct.

37T, 3ea-Gfeat & U T ST & AR, +Aell/HTel T & arer e UeT F INTHIR Jeak-
qfEctenT ¥ e 3ifaer Y 3ifhd HT TE IcaT T T AT

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

Teh U3 o TIT 319 3cay It HIeAT STTaT |

Multiple answers for a question will be regarded as wrong answer.

I RIGE STeeft

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

SRIBTT 997 Blet O, SICHH Sec-REdehl I SR & See e & &1 3R 7d AR Sear-qfeas
[oaten it @Y e gEdl ufar 3mge 9 1|

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.

TRA-GIEeRT 3T 319 T @ wFA B

The question booklet can be retained by the candidates.

08T & TUA ° & R 3reATIAT 1 T gl BIse Y AT AGT 51

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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FeREIRER-T (1307)/CATERING ATTENDANT-A (1307)

FIST SaRT A oA & faw St &1 3T g B

The gas used for breathing by human beings is

(a) TIT SB3TFATSS/Carbon dioxide (b))  3iTeFEISIsT/Oxygen
(c) TScrstel/Nitrogen (@) Efegd/Helium

HJHE & TS A1

(a) SRIH FeIRIS8/Barium Chloride

(b) AfETH FAAES/Sodium Bromide

(c) WfZIA SgFEiAc/Sodium Bicarbonate
(@) TREIA FeRIE8/Sodium Chloride

&/Chemical name of common salt is

e STet ¥ herstarer 9T

(a) WT&T/Pneumonia
(c) IeRI/Cholera

(b) HRAMalaria
(d) drsIel dX/Viral fever

faeIfAeT T T HHET & HROT 3GeT AT gl

Disease caused due to deficiency of Vitamin A is

(b). SRER/Beriberi
(d) SAF-ASHAT/Conjunctivitis.

(a) ferRImera/Night blindness
(¢) FERFa@a/Haemophilia

= &7 @ o Ag Sl SieT-AT &/ Which of the following is the purest water?

(a) - g9T-STel/Rain water (b) W—EIFT/ Sea water
(c) HASI-STel/River water (d) EI-STel/Tap water

R T TAYYH 3YIE, “HAHE” HIay H gARa frar )

The first satellite of India, “Aryabhatta” was launched in the year

(@) 1947 (b) 1975 (c) 1980 (d) 1940
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g/Disease spread through contaminated water is
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10.

11.

12.

TadT 9Rd & wuH A &0 Ry
The first law minister of independent India.

(a) LR FeaTHHTS Ycel/Sardar Vallabhabhai Patel
(b) CIETsS Haiwil/Dadabai Navroji

(c) 3. & 3R 3fd8a/Dr. B.R. Ambedkar

(d) SRR Ag%/lawaharlal Nehru

T P T A & e 3YFIOT HT G217 HAT ST g
Equipment which is used for measuring the intensity of earthquake?

(a) PUIT@H/Seismograph (b) TAFAITATI/Anemometer

(c) TTATII/Speedometer (d) dlecAd/Volt meter

g F AN & TR F T e gl gl

The hormone which controls the sugar level in blood is;

(a) UfgeTfeld/Adrenalin (b) UrEATFHA/Thyroxin

(c) HaTCI=l=1/Melatonin (d) $=gfe=/Insulin

Prfaf@a § @ #qed & AR F T 931 T Fie-AT &7
Which one of the following is the biggest organ in human body?

(a) TSe/Liver (b) <ddI/Skin
(c) ~ ¥&I/Heart (d) gaFh/Kidney

TR 3rafer-ardy A ke AT & fra oy faRer F amr F2

In which year the Indian astronaut Shri Rakesh Sharma travelled to space?
(a) 1984 (b) 1982 (c) 1989 (d) 1981

Trafaf@a & ¥ SR & G 937 Yodel Hi-a1 8?7 -
Which one of the following is the biggest port in India?

(a) HA/Kochi (b) FFS/Mumbai
(c) Taem@UEUTA/Vishakhapatnam (@) TNSA/Vizhinjam
4
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13.

14.

15.

16.

17.

18.

19,

parspag 3 P21 g HiT-ar %"/Which one is the farthest Planet?

(2) AAYCIA/Neptune (b) IXTTH/Uranus
(©) S (FEafer)/Tupiter (d) HRT (FITe)/Mars
HRT T AT Wl €/National game of India:
(a) hessl/Kabadi (b) ﬁﬁ/l—lockey

(c) fohdhe/Cricket | (d) Fl/Wrestling

rafaf@ad # ¥ 98 FIT 39=drel 98 Sia-a1 27
Which one of the following is the highest growing tree?

(2) TETATA/Teak (b) HeTE/Mahogany
(c) Tsl/Sandal (d) Y393/Redwood
frfafaa & ¥ g98 #Hier siq-ar g2

Which one of the following is the sweetest?

(a) g_aﬂi’]'éw_{T/Lactose (b) BRI/ Fructose

() 3&1—?@/ Sucrose (d), TehleA/Saccharin

U fohehe T T 'Eﬁ'lé’ fohc=T Il &/What is the Length of a cricket pitch?

(@ 20 G/t (b) 23 P/t © 22Tt d) 25T/t

T Hia # frae freieeT 8 &/One mile is how many kilometres?

(a) 1.609 f.AT./km (b) 2 AT /km

(¢) 3 AT /km (d) 1.75 T.#T./km

STel & e Ealel &1 el A & o 3YSHROT AT GANT fomam 1T B
Instrument used for measuring intensity of sound under water.

(a) @3ATBIA/Hygrophone (b) FATATII/Sonometer

(c) gT8sW%ia/Hydrophone (@) TIAEese/Theodolite

S



20.

21.

22.

23

24.

23

26.

W DT EITA FAT hgelldl %‘/Study of flowers?

(b) Faeafa-fTaa=/Phytology
(d) 9fey-f37=/Ornithology

() TIfAST/Anthology
e {\Wq [/ Seismology

T & HROTETT U A FET ST

The disease in which blood does not clot on wounds
(2) ITERFI®E/Haemophilia (b) STelide/Hydrophobia
(c) m}ﬁﬁﬁﬁ/?neumonia (d) AR=@A/Psoriasis

wH &Y ﬂT;"T/Currency of Russia

(a) AT SreR/Russian dollar (b) ®HI Tfdel/Russian Ruble
(©) ?J‘:{T/Euro (d) ®HT fGAAR/Russian dinar

1000 &7 20 Gfderd & 20 9faea £/20% of 20% of 1000 is,

@ 50 (b) 400 © 40 @ 200

1/2+2/3 +3/4 =9
@ 1712 (b) 23/12 © 15/12 @ 6/9

U@ Y @I fFEa /Who discovered Penicillin?

(2) 3TIFAISY Felf&dl/Alexander Fleming
(b) #HzH Eﬁl‘\fr/Madame Curie

() ﬂEG]FI'fRontgen

(d) YHF Tf3TsT/Thomas Edison

el H Ul T 1 ael 3H2/The yellow coloured fluid part of blood?

(a) Telfdshi/Plasma (b) lﬁ'd’-‘d‘l‘l?_l'/Platelets
(c) HIE/Proteins (d) 37 FAF/Inorganic salt
6
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27

28.

29

30,

3l.

32.

33.

CTETT-2TR]T T GEl &/The formula of Glucose

(a) Cs H]O 06 (b) C6 H]4 02

(C) C6 H12 Os (d) C(, le 02

REeX Thel E@RT &9 a@m 1 drear e AT ST g

The Intensity of earthquake waves is measured by Richter’s Scale from

(@ 138/tol0 (b) 0 /o9

() 13109 (d 13/o8

DDT &l I A &/Full form of DDT

() SISFAR! SBTHAST SSFaRT TAF/Dichloro Diphenyl Trichloro ethane

(b) SEFIRT TSI STEFERT TA/Dichloro Triphenyl Dichloro ethane

(c) IEFaAR gEfharse EISFART AYA/Dichloro Diphenyl Trichloro methane

(d) STSFART SSFART TZFART TAA/Dichloro Dichloro Trichloro ethane

g¥dl FT Teh A Wﬁ? ELCF ¢/The only natural satellite of Earth is:

(@) 2rfA/Saturn (b) TEAT/Moon

(¢) S¥/Mercury : (d  T®/Jupiter

ST T qf_“‘c?l'ﬂ' a9 ¢/The surface temperature of sun is:

(@ 1000°C (b) 1200°C (c) 3000°C (d) 6000°C

AGHSS HT ITEAT H EaRT AT ST ¥

Humidity of atmosphere is measured by

(a) W/Hygrometer (b) W/Barometer

(¢) AMIATYY/Thermometer (d) 3ccdg gdcaATI/Hydrometer

‘faae 7 3fafdse e — &/The acid contained in *Vinegar’

(a) UHIfEH 1FA/Acetic acid () SRS 31FdA/Boric acid

(c) Tefee 31 cI/Nitric acid (d) HeFIRF 3Fel/Sulphuric acid
7 1307/16




34.

35

36.

31

38.

39,

40.

This is what I was searching

GR qﬁ:‘qq‘r T IYANT H{/use the correct preposition)
(a) of (b) from (c) on (dy for

gl

AT, STEI, Hr%ﬁ%%na?ﬂqg“’%r STt & foIT ggerd 3Tl

Apparatus used for finding out the direction and range of aircraft, ship, etc.

(a) WW/Monitor (b) W/Barometer

(¢) YBR/Radar (d) YI TFHYWindmill

AT & dgol H AT T G-Il Fel Sl JTdled JOTell gl
The ancient system of exchanging goods for goods.

(a) TafFT/Exchange (b) FIEY/Carter

(c) aEdfaferF/Barter (d) I/ Tarter

gedy &1 56 W A & g & FROT Bl

Heat on earth’s surface is increased due to

(a) YO/Sunlight (b) 3TFAST=1/Oxygen

(©) a'l'x’_JI:?:iBFl'/Atmosphere (d) afegs d19el/Global warming
THAN-2AMY & SHRUT §iaT g/Bronchitis is caused by:

(a) STel 9GWUT/Water pollution (b) g UEHUI/Air pollution

(c) SNaM/Bacteria (d) df¥as ardel/Global warming

[7—{3+(6—(4+1))}] +12x2="?

(@ 30 (by 27 (c) 26 ) 25
STt HT ?Il;ﬁl'c'f £/Joule is the unit of
(a) di9/Temperature (b) <cTd/Pressure
(c) Soil/Energy (d) >THI/Heat
8
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41.

42.

43.

44.

45.

46.

47.

Y faea 1 TE T37 TH HEW AR F ¥

India has the largest deposit of in the world.

(a) dle/gold (b) dTH/copper

(c) HISI /mica (d) ©lig/iron

AaraeR Gaa Ca) qsdr %’/Human Rights Day is on

(2) 24 BRa/24" February (b) 10 EHE/10™ December

(©) 15 #AZ/15™ May @ 21 STE/21% July

TS 1 3TaSHR garT {1 91/ Television was invented by
(a) WRa/Faraday (b) STS/Baird

(c) TfEHaA/Edison (d) FARION/Marconi

Srafaf@a el 7 7y use & vee aief gorelr 82

Which one of the following countries has single party system?

(a) $TRd/India ' (b) T/China

(c) TJFA AsF/United States (d) IATSes FRITSH/United Kingdom

I H AFR H TR AT TIR=IT?

When was the ‘Right to Information Act’ passed?

(@) 3@, 2005 F/In October, 2005 (b) 3(eFSK, 2006 #/In October, 2006
(c) fadeR, 2005 #/In September, 2005 (d) AR, 2006 #/In September, 2006

3iTcfeg &1 3IRY fog IS A §31T/Olympics was originated in which country?
(a) UA=H/Athens (b) I H/Greece
(c) JUHT/USA (d) HRA/France

I BIeT HGIEAT HieI-AT §/Which is the smallest continent?

(a) 3TPIRT/Africa (b) HeAST/Canada
(c) 3tecferan/Australia (d) HrelehT/Srilanka
9 1307/16



48.

49.

50.

51.

52.

33.

54.

39,

g & dgcdd SheTdias Use/Largest democratic country in the world

(a) $R/India (b) TsiceT/Britain
(c) =dTel/Nepal (d) 3ANI/America

aRT & g a¥ F W & YR R AT H Yoo haAT I

In which year, reorganisation of states on linguistic basis, took place in India.
(a) 1949 (b) 1950 (c) 1947 (d 1956

FAAA guuT GART 3cHes SIGIEC] &/Image formed by plane mirror is;

(@) dTEdides d sededf/real and erect (b)) aTEATdh & UciifUd/real and inverted
(c) 3HHEE T Fedeidi/virtual and erect (d) 3THRAT @ g fad/virtual and inverted

6,83 10 &1 PeIaqaE :gm?r-@'-s' S/LCM of 6, 8 and 10
(2 120 (b) 480 (c) 240 @ 112
24 31T 30 FT IgdH T a;m:r—a'-sr 2/HCF of 24 and 30
(@ 8 @EAG a5 ) 4 (@ 12

weh FET ¥ 5 Reat # SR 52,45, 50,53 3K 60 1 g A AT HR T G FCY
The weights of 5 students in a class are 52, 45, 50, 53 and 60. Find the average weight of the group.

(a) 53 TramEmA/Kg (b) 60 fraramH/Kg
(c) 50 fraamA/Kg (d) 52 fremamA/Ke
T A I aS = 6 AR, A 3HH FeT TS &1 gl
Total surface area of a cube with length = 6 cm is
(a) 144 9971 A /sq. cm (b) 36 T3 HEHATYsq. em
(¢) 18T FEHIR/sq. cm (d) 216 3T FEH/sq. em
16/5 &t F ®H aEdd fopar ST GHaT §/16/5 can be represented as
(@ 31/5 (b) 51/5 () 41/5 (d 5173
10 1307/16



56.

S

58.

59.

60.

61.

Rs. 150/- 7 aetd & v §HA @ier = 3R 39 20% oy #7 &7 Gar ) 39T

fasa-Aea &1 &7

An item was purchased at a cost of Rs.150/- and sold with 20% profit. What is the selling price?
(a) Rs.170/- (b) Rs. 180/-

(¢) Rs.200/- (d) Rs. 230/-

6 T ITUR AR 8 AEHR Fargarer vF Feger &1 87 fhcanm &2

What is the area of a triangle with base 6 cm and height 8 cm?

(2) 48 T TEHER/5q. em. (b) 96 3T FEHI/sq. em.

(c) 24 HEHTI/sq. cm. (d) 16 gaT FEHE/sq. cm.

0.01 Sl & FTH TEdd feFam ST FehaT §/0.01 can be represented as

(a 1/10 (b) 1/100 () 1/5 (d 172

Srercerse O fra 3fer s1f&a gYar 8/Which organ is affected by Myopia?

(a) hIe/Ear ' (b) #ATH/Nose
(c) #F/Eye 7 (d) HFETSH/Brain

fre & ag @S oeeia 99 30« ¢re g v Rad ke HT |

The cricketer who has played the highest number of tests and one day cricket.

(a) SI9T STEHATA/Don Bradman

(b) @i dgere/Sachin Tendulkar
(c) sl ¢IRT/Brian Lara

(d) fafaas RA$T/Vivian Richards

Prafafad SRt & 78 995 3 Fi9 3, 5w Hd WHR or e safer
QEHR & GHEATA fohaT Imm?

Who among the following was the first Indian to receive the Chevalier award instituted by the
French Government?

() 37T TTe/Amithab Bachchan  (b) feliT FAR/Dilip Kumar
(c) TRarslT aruTer/Sivaji Ganesan (d) A gH«/Kamal Hasan

11 1307/16



62.

63.

64.

65.

66.

" 6T,

9T & frasy TSI &/How many States are in India?

(a) 28 (b) 24 () 29 (d 27
RS &7 399E AT T H &ya gl

Satellite Launch Station in India is situated in?

(1) AfAS #1g/Tamil Nadu (b) 3T 9cRl/Andhra Pradesh
(c) Fei/Kerala (d) Feilch/Karnataka

&/Present Chief Justice of India is;

YR & TAAW HET IR

(a) A TI TSF Ec/Mr. HL Dattu

() # &y f§ SEUMr. Tirath Singh Thakur
(c) #r % S STAhsU/Mr. KG Balakrishnan
(@ # SEE HRIA/Mr. Joseph Kurian

AT TieTe ¥ T@fAEr $leT §/Who is the architect of Indian Constitution?

(a) FETcAT IMefisi/Mahatma Gandhiji

(b) STgEIce g%/ Jawaharlal Nehru

(c) TQATAT ﬁam/Swamy Vivekananda

(d) sf. #f| [T 3{9sHY/Dr. Bhim Rao Ambedkar

Tty &, T ot oF 3Tegel FelH F SH T
The birth place of Late Dr. APJ Abdul Kalam.

(a) THGIH/Rameswaram (b) TFHHTQIE_I’W/Ramanathapuram
(c) T[Hﬁﬁgm/Ramavarmapuram (d) dTRUTTl/Velankanni

g efaor oRrrt T F dead J6 87

Which country in south Asia has no democracy?

(a) #{CTe/Butan (b) SqTel/Nepal
(c) #eIl/Srilanka (d) HATeIEAd/Maldives
12
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68.

69.

70.

Wl

12,

13,

74.

SEATA &l Y d5T 3c9IGH &/Largest producer of steel is?

(a) #Rd/India (b) HIH/France
(¢) SIYied/Japan (d) =/China

@ # e gt 3% Si9-ar g2

Which one of the following is a private sector industry?

(a) BHEL (b) SAIL
(¢) TISCO (d) NTPC
You maintain a healthy weight, if you keep exercising.

(379 fasea gf=/select the appropriate option)

(a) can (b) waskeep
(c) iskeep (d) must
I would have bought a new car for her, but it — too expensive.

(3faa faswed gi/select the appropriate option)

(a) were (b) are (¢) was (d) can

All of us are devoted one another.

(3fra fashed giwU/select the appropriate option)
(a) for (b) to (c) of (d) at

The medicines must be by you.
(3faa faseq gfaw/select the appropriate option)

(a) took (b) takes (c) take (d) taken
Today, people who enjoy winter sports is much greater than that of twenty years
ago.

(3fa faeq gAT/select the appropriate option)

(a) anumberof (b) many
(c) agreatdeal of (d) the number of
13
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76.

77.

78.

75,

80.

On seeing the police, the thief started
(37aa fased giAw/select the appropriate option)

(a) ran (b)
(c) runs (d

According to the studies, dolphins, whales and
sophisticated navigation systems.

(3T fased giaw/select the appropriate option)
(a) any (b)
(¢c) many (d

running

a little

much

other sea creatures use highly

s HHT & TaA HEYeT/3TETETT/Present Rajya Sabha Chairperson

(@ 9 o $RI=/PI Kurian

(b) HEFHAS §fAG 3ARY/Mohammed Hamid Ansari

(c) oIAHAT %tITijNajma Heptulla
(d) AT FGTell/Sumitra Mahajan

reareer Fr fafsAwgar §/Validity of an ordinance
(a) TS a¥/One year (b) 6 Hel=/months
() 3 HAGIAT/months (d) 9 FEAT/months

(e i WA o 'ﬂc'@FIT &I FRY FITST/Complete the series: 1,3,2,...,3,7

(@ 4 ® 2 () 5 (d 6
15 #ex i devs 1Y ¥ I W U &, 3 Hel A gl dF HM|
Distance covered by a train travelling at a speed of 15 m/sec, in 3 hrs.
(@ 152 fFhaHe/km (b) 142 frellFACYkm
(c) 162 fheitdHcT/km (@) 132 Reli#Ae/km
14 1307/16



